Homework handoat for homework #4.

Divechons: Please submit Hhis part of homework

on a 'Séﬁdﬁjre Sheet.
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490 = Yy (2-4) = XY.

Problem: Let 5

@) Does this system describe predator—prey
J ! '

. . .9 :
Competing ,_or cooperating species” Please explain .

_0) Use the system to desciibe what will happen

i fhe Ion_é run 1 X am’yg(ﬂ ) L

1 X00) =0. —

) Find all €€m‘/l'/orz'um ’pofmts of +he 501/51‘614/1,

@) Let FO,Y) = (XxG-x)=2xy, y(2-4)~xy)

be the vector field for this system

Draw F(1,0) , F(o,4)  F(1,1)° F(3,2)




